2000 2100 2110 2113 110 101
2000 1,377,060,990| 1310593391| 66,467,599
377,060, 310,995, TN 1 7 804,877 144,401 2,382,720]
2100 60930949  63B574716| 42356233 ¢ 120 4en  114.701 10,000]
2110 93,272,737 76300085 169627521 4 c78 463 130.000]
2113 5,141,558 5,100,520 41088 15 oog
100 3,016,415 3,015,377 1,038
110 2,186,863 2,185,825 1,038
101 2,186,863 2,185,825 1,038
21,811 20,773 1,038|04
( )(=20,450)
33,610 * 1 * 300 = 10,083
10,083,000 * 4/12 = 3,361
33,610 * 1 * 15 = 505
50,420 * 1 * 12 = 606
33,610 * 1 * 65 = 2,185
10,083,000 * 1.5/12 = 1,261
10,083,000 * 10% = 1,009
120,000 * 1 * 12 = 1,440




(=1,361)
20,450,000 * 4.5% = 921
20,450,000 * 1.45% = 297
20,450,000 * 0.6% = 123
= 20
21,811,000 - 20,773,000 = 1,038
200
1,225,143 1,185,143 400001 15 001
210
15,000 0 15000 - 15 000
201
4,400 0 4900 0 4 4001
4,400 0 4,400| 01
< >
-2003
( 2,400)
_ - 2,400
( 2,000)
- = 2,000
405
10,600 0 10600 - 15 6001
10,600 0 10,600(01
<2003 >
2000 2100 2110 2113 110 101




2000 2100 2110 2113 210 405
(=4,000)
( 2.400)
- (24port) 600,000 * 4 = 2.400
( 1,600)
_SDSL  (2W) 400,000 * 4 = 1,600
( 1,000)
1,000,000 * 1 = 1,000
( 600)
(OVD) 600,000 * 1 = 600
(CD )
( 2.300)
1,150,000 * 2 = 2.300
( 2.700)
(DAT) 1,350,000 * 2 = 2.700
220 1.210,143 1185143 25 000
401 818,735 793,735 25 000
794,735 769,735 25000| 01
(80A)
125,000 * 200m = 25.000




